o
l_l
=
|
Il
-~

-3

P —6,ydH




e QAT 3x -y =10 o A= 0] 22

@ (0, 2) @ (1, 3)
@ (4, 2) ® (5, 3)

@ 1

D3x0+2%10
@3x1+3%10
®3x2+4=10
@3x4+2#10
®3x5+3 %10




ohE e WA ax+by-6 =09 T
solck o % ab o FathARET |
3

®1 22 03 @1 ©)

ARG gx + by -6 = 0 9] Z:HZ7 = 4 (0,3),(2,0) =
AuBnz Foizl Ao tiste] EHa=3,b=27} 2
ot @&t a+b=3+2=5 |t}




© AP 3y 46 = 0] T

ol

o

B!

_11_
R

o
™

@ ygtoll gglol xgk

ol
NI

Tod
B
o

ol A (2, 0)& ATt

x=




Mz

N\ N

(@]
—
— ;0 I
! o
= I A —1m
+ > t +
= ==
™ = = IN q
——N— —
L
I~
L S =
-~ -~ P
n I + + I
= = s
= = = a0

—— —— ——

o ® o




29
® 4 2)6 ® 2
@ 8 ® -3

T A4 B0l (4, 1)°|B=
o st

8—1=a Loa=T
4b+1=5 Lb=1

w2t g-b=7-1=6°|th

4, y =

fijo




24 2x—y+1=0,x—y+2 =09 I w¥& A, 7| &7
391 AA10] AL

O 11— -

@ 3x+y+4=0 @ x-3y=0
@ 2x-y+3=0 @3x—y:0

® 3x+2y-1=0

~&B

2x-y+1=0,x—y+2=0 9 2¥L 33514 (1,3)
718717 3 9l QA4 A&y =3x+b 2 M A (1,3) &
v ez

3=3+b

b=0




=92x+3 =3x+5
@ {” @ "
=-2x-3 =4x+7
3 y @ y
2x+3+y=0
® y
2x-y+7=0

=2x+3
Y = 3|7} glrt.
y=2x-3

y=2x+5

=-2x-3
Y = 87k 17]]ch,
y=2x-3

3x+3+y=0
2x—-y+7=0

= o7} giek.

@ {y:3x+5 = 37} 17]o] .




ARty = ax O] 27 F H A(L, 3), B4, 1) = °l&
g o, o O] gro] Hele?

yA
A
B
0) T
1 1
®55a32 @ZSas?, @ 1<ax<?
@ 1<a<4 ® 2<a<4




10. o8 I3} & AABC oA /B = «C ¥

o, AC 9] Aol=?

@ 4cm @ 4.5cm

@ 5.5cm ® 6cm

AABC 7} o] 5zt ol 2
AC = AB = 5¢m




11.

th 192 AABC 4 AB = BC, BDLAC

A, zy—sx & A7]=2

@ 40°

® 45°

Q

AABC + o|5HAZgol B2

ly =60°

T BDLAC °]E& /ADB =90°
mrehA] zx = 180° - (90° +60°) = 30°
S Ly—/[x=60°-30°=30°




12. oS a4 aABC &= AB = AC ¢l o|5¥AZ o
BD =BC ¢ o, zx 9] 27]&?
A
36>
B C
B 44° @ 46°

@36° @ 40°

®

30°

[7}go| B2 /A = /ABD = 36°

AABD £ o]5H47Z
/BDC = 36° 4 36° = 72°

ABDC E‘ O] L= eyl
. Zx = 180° — 72° — 72° = 36°

HAZI ol B2 /BDC = /BCD = 72°




13. o2 1™y} o] Zo] YAt Zo] Ho|ZE HUrt LACB = 50°
A, 1x0] 7|9

D

@® 45° @ 50° ® 55° @ 60° (3)65°

Zo] glo]ZZ H oW /ABE = /ABC = /x°]1L
(ABE = /BAC = /x(%7})

AABC 9] WjZte] gH2 180°0| P2

. 2/x+50°=180°

/x =65°







15. /AOB o W3o] & 4
g e we 22t

A
PD ©]% ACOP = aDOP ¥-2 FH317] $aliA
ol-g FEx2?
0
@ sss #E @ SAS &% ® ASA =
@ RHA & ®)RHS &

/PCO = /PDO = 90°, OP(&%), CP =PD °|2& ACOP =
ADOP+= RHS #-5o|t}.




16. & ™83 28 AABC oA FDC = 28° & o, /A o] 27]|E
“Fatolet,

A

L
o

[ 2
> =g 56°

AEBD = AFCD(RHS3HS)

(EBD = /FCD = 62°
oo LA = 180° — 62° X 2 = 56°




53]
APOA 2} APOB ©f| 4

(POA = (D) ------ @)

@ esF---- ®)

(®) = OBP =90° ------ ©

@, ©, ©°ll 2314 aAPOA = APOB (@) &F

- (®)=PB
@® /POB @ OP 3 /OAP
@)RHS G PA

APOA ¢} APOB |5 /POA = ( /POB ) ------ @
(OP ) =25 ...... ©

( LOAP )=/OBP =90°::---- ©

@, ©, ©°ll 2314 APOA = APOB ( RHA ) &5
.. (PA)=PB

T2t 7] 42 AL @0l




18. o2 1T} o] LAOB 9 o584 99| - PojlA &= ¥ OA, OB
o W&l =49 s 247 ¢, Dt & off, th3 - 4] 2 ALY
A
C
% [ .
0 D B
@ /PCO = /PDO @ /COP = /DOP
® PC=PD @ ACOP = ADOP

()0C = 0P = 0D

AOCP = AODP(RHARHS)
w2t CO = OD, CP = PD




U

39} 2ol
WX 5] Zolg Fstelet.

19. o&

5cm ©] T

=
1

whebA] WA 5] Aol




20. o5 2199 AABCOlIA BC 919] g A D]l tste] AD = BD = CD
d o, /A 9] A7]E F-shefet

[ 2
[> =l 90°

DA =DB =DCo|EZ A D& ¢JAlo|tt
wheb] AABCE /A = 90°¢1 A ZHArZEg o)),




21. oh& 2™ aABCOIA A 0= 4loltt. BAO = 22°, /OBC =
34° W, zx 9] gh= Fstef=t

A

22°

34°

L
o

>
> Mt 34°

LOAB = /OBA, /OBC = /0CB, /OAC = /OCA°|E&
LOAB + £/OBC + £OAC = 90°
S Z0OAC =90°-22°-34°=34°




22. & JdoA A O0E AABC Q] Aloltt /A =50°Y d, /BOC

o 2718 Fotw?

® 10° @10 ® 1050 @ 95°

® 115°

/BOC =2 x /BACO|EZ 50°x2 = 100°
.. /BOC =100°




23. oF TolA W 17h aABOS) WAL o, x+ 2y + 2o = (
ok () gle] YLL 2 Fotolet.

)O

A
I
B C
> E:
> HED 90
A

1
B 2N
2(x+y+2z)=180°
T x+y+z=90°




24. AABC 9] Ho]7F 30 € ], x o] Lol & Fstefzh(d, A 1= W)

@AB@ﬂgq>:%XXx@§+§a+xay:m

%Xxx30=30
WA x =2 olct.




oA 1= aABC 9] YA4lo]1l, DE//BC ¢ ©j aADBI =
o|H 47ted 12| Wotoizt
A
D E
B > C

1+ AABC ¢ YAol=2& /DBI = £CBI
DE//BC °©]2& /DIB = /CBI
welA] /DBI = /DIB ©| 22 ADBI £ o] 5HArz+ ot}

oflt




